BEExEER

=0 5% 3AIHR®E

(B4 - [)
# 8 LEE AIEE O
I BEOH
1. REEE
3] % ¥ & 25,233,772 15, 791, 761 9,442,011
*x i} A % 11, 262, 011 5,947, 460 5, 314, 551
L] h o4 942, 895 938, 230 4,665
A i3 = 3 1,307, 741 136, 400 1,171, 341
& $h % 8, 880 21, 580 A 12,700
RBEESET 38, 755, 299 22,835, 431 15,919, 868
2. EEEE
(1) EARBAE
E HA 5i: | o4 20, 000, 000 20, 000, 000 0
HAKBIESE 20, 000, 000 20, 000, 000 0
(2) BEEE
B OB OB 5 & & E 220, 000 100, 000 120, 000
HEERERERRILEE 0 0 0
& v i s 8,112, 650 10,944,269 A 2,831,619
HEEESET 8, 332, 650 11,044,269 A 2,711,619
Q) TDEEEE
/= O B & B E 3,144, 353 649, 445 2,494,908
B W & #H% £ 1 1 0
ZTOMEEEESE 3, 144, 354 649, 446 2,494,908
BElE&EAE 31, 477,004 31,693, 715 A 216, 711
BESET 70, 232, 303 54,529, 146 15,703, 157
I &BEDE
1. RB&E
*x $h % 30, 545, 530 22,606, 600 7,938, 930
Al = & 930, 820 625, 120 305, 700
T8 L % 1,244, 896 821, 788 423,108
i = T 1,062, 425 74,610 987, 815
x O E AN T =F 1,332, 600 371, 300 961, 300
REaEeEt 35,116, 271 24,499 418 10, 616, 853
2. BEA&E
B B OB+ 5 & £ 220, 000 100, 000 120, 000
BEEaESE 220, 000 100, 000 120, 000
=LAy 35, 336, 271 24,599 418 10, 736, 853
I IERRBAEDER
1. &%
& 0 0 0
2. IEEIERKRELE
IEEIEKREAEAE 0 0 0
3. —ARIERBREAEE
(M REESE 0 0 0
(2) 7 Dt — AR IE KBS E 34, 896, 032 29,929, 728 4,966, 304
— AR IEBREAEEAET 34,896, 032 29,929,728 4,966, 304
(O BLERME~ADFTHEE ) 20, 000, 000 20, 000, 000 0
(SLBEEE~DFTLEE ) 8, 112, 650 1,301, 810 6,810, 840
IERRBAEE & 5T 34, 896, 032 29,929,728 4,966, 304
BERUVEKMESST 70, 232, 303 54,529 146 15,703, 157




